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BHER HEBB T LS
% FR Fig - BIRTE AL = fifl & W=

B R i 4,415,300 + 98, 922 4,514,222
EEAGE 4,415, 300
EERE 98, 922
% O /R 4,415,300 x 53.85% ( 35% + (1 — 35%) ) 2,377,639
RB R 4,514,222 + 2,377,639 6,891, 861
—REEEE 6,891,861 x 53.85% ( 35% = (1 — 35%) ) — 3,128 3,708, 139
EX T 6,891,861 + 3,708,139 10, 600, 000
HEREELE 10, 600, 000 x 10.00% 1,060, 000
£BREH 10, 600, 000 + 1,060, 000 11, 660, 000




BERRE

% 5 R - IR ==Rvs = i 8 =
BRI 4,514,222
E - R - REEEHR 4,514,222
BT REEFR 4,514,222
BB F 4,415,300
FTE %R 433, 500
1 FHE#(E .00 433, 500 433, 500
=x
BEHRUNE - BHE 303,100
2 EFINEE - BEHE .00 303,100 303, 100
=x
MEHDHRTE 2,764,600
3 BEIMBESEEEE LIz LAL2 00 2. 475,900 2. 475,900
EHDHRTE .
=x
4 HHFEBETIVY .00 288, 700 288, 700
[a]
& - |E 441, 200
5 EwitHE .00 121, 800 121, 800
[a]
6 hfEEHRE .00 121, 800 121, 800
[a]
1 =B|E .00 197, 600 197, 600
[a]
52 472,900
8 MEZER .00 472,900 472,900
=x
EiERE 98, 922




BEANRE BB LTS
2 ¥ 1B - Botkeik B g i %8 S

EHERRE 39, 741
9 EHEALE 1.00 39, 741 39, 741

=%
R 52,000
10 EF5E SR 1.00 52, 000 52,000

Eaw
HeE 7,181
11 Bi& 1.00 7, 181 7,181




RER-FEIT/Svr—2 Hh BN TS

H5: 1
BF : STEXER 1LY
% £ B - R BAfT W = B & £ W = g &
HERE
A 1.00 75, 800. 00 75, 800
EXEETTHER))
A 1.50 64, 800. 00 97, 200
HEm (A)
A 2.50 57, 000. 00 142, 500
HEm (B)
A 2.50 47,200. 00 118, 000
& &t EZ8EH - 1. 00X 433, 500. 00 433, 500
&5 :2
BF5 : ERUNE - BIE 1LY
% £ B - IR BAfT = B &® % W = g &
EXEETTHER))
A 0.50 64, 800. 00 32, 400
HEm (A)
A 1.50 57, 000. 00 85, 500
HEm (B)
A 2.50 47, 200. 00 118, 000
Bitr&
A 2.00 33, 600. 00 67, 200
& EEEeH - 1.00KH Y 303, 100. 00 303, 100
&5 :3
B BEFRBENREEEE LI LANIL2UMEEFDRTE 1LY
% £ - R BAfT = B &® % W = g &
EXEETTHER))
A 3.60 64, 800. 00 233, 280
HEm (A)
A 12.70 57, 000. 00 723, 900
HEm (B)
A 21. 60 47, 200. 00 1,019, 520
HEm (C)
A 13.00 38, 400. 00 499, 200
& &t EEEeH - 1.00KH Y 2, 475, 900. 00 2, 475, 900




RIER-FET/\vHr—>

EE 4
&% BAEEETILY = ED)
% £ B - R BAfT = B ] it g &
EXEETTHER))
A 1.00 64, 800. 00 64, 800
HEm (A)
A 1.50 57, 000. 00 85, 500
HEm (B)
A 1.00 47, 200. 00 47, 200
HEm (C)
A 1.50 38, 400. 00 57, 600
Bt &
A 1.00 33, 600. 00 33, 600
& YE¥EEH - 1.00EY Y 288, 700. 00 288, 700
HES5:5
& BATHE = ED)
% £ - R BAfL = B ] it g &
EXEETTHER))
A 1.00 64, 800. 00 64, 800
HEm (A)
A 1.00 57, 000. 00 57, 000
& &t EZ8EH - 1.00[= 121, 800. 00 121, 800
ES5:6
AW hREHRE 1=HY
% £ - IR BART = B ] it g &
EXEETTHER))
A 1.00 64, 800. 00 64, 800
HEm (A)
A 1.00 57, 000. 00 57, 000
& &t EZ8EH - 1.00[= 121, 800. 00 121, 800




RIER-FET/\vHr—>

H5:1
BT RRHE 1mHY
% ffr\ R - BIKTE B = B %8 b g &
BEnE
A 1.00 75, 800. 00 75, 800
EXER1HE 5
A 1.00 64, 800. 00 64, 800
HEm (A)
A 1.00 57, 000. 00 57, 000
=) Hi YEZE8EH - 1. 00 197, 600. 00 197, 600
EH5:8
£ i R - BIKTE By = B %8 ] g &
EXER1HE 5
A 1.50 64, 800. 00 97, 200
HEm (A)
A 2.50 57, 000. 00 142, 500
HEm (B)
A 2.50 47, 200. 00 118, 000
HEm (C)
A 2.50 38, 400. 00 96, 000
HEm (C)
A 0.50 38, 400. 00 19, 200
=) it YEZE8EH - 1. 00K 472, 900. 00 472,900
5:9
2% BHEARE 1xXHY
£ %fr\ R - BIKTE I::¥iv) = B L] b g &
EHRARE
= 1.00 39,741.00 39, 741
=) H EZE8EH - 1. 00K 39,741.00 39, 741




RIER-FET/\vHr—>

EE5:10
% 7 Hg - KT B = B i %8 i 5 &
EBRRERE
= 1.00 52,000. 00 52,000
& it {EZRED - 1.00X 52,000. 00 52,000
= 1
2% B 1X50
% 7 g - KT B = B i % i B &
#He
= 1.00 7,181.00 7,181
& B 1E%gEN - 1.00KH Y 7,181.00 7,181






